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Kuiscbkoi odnacmi Ha 2047 piKk
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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
MNomokniacbke 44 16 3,8 10C3 80 0,71 2 21 28 306 4e CPB | BcuxaHHs 40
45 14 7,2 10Cs3 67 0,71 1 22 28 329 4e CPB | BcuxaHHs 20
- 44 6 7,3 10C3+Akb 80 0,61 1 24 32 319 4e CPB | BcuxanHs 56
- 44 1 2,4 10C3 77 0,71 1 26 30 409 4e CPB | BcuxaHHs 23 %
45 9 15,1 10C3 62 0,71 1A 25 28 392 4e CPB | BecvxaHHs 13 g
35,8 °
MNepesicnascbke | 45 11 14,5 10Cs3 61 0,7 1 22 28 320 2e CPB | BeuxaHns 29 ;
Pasom 14,5 §
BepesaHbcke 8 5 19,8 10Cs3 65 0,7 1 24 28 360 2e CPB | BcuxaHhs 18 g
16 1 6,3 10C3 54 0,7 1A 23 24 340 2e CPB | BcuxaHHs 17 §
18 16 6,6 10C3+[] 76 0,6 1A 28 32 380 2e CPB | BeuxaHHst 40 g
26 11 4 10Cs3+[ 71 0,7 1A 27 32 460 2e CPB | Beuxanns 23 E
23 2 4 10C3 59 0.8 1A 26 28 460 2e CPB_| BeuxaHHs 36 E
5 4 | 283 10C3 66 07 1 22 26 320 2e | CPB |BcuxahHs| 12 8
Pa3zom 69,0 2
Crynenukiscoke | 88 21 5,7 10C3+bn 52 0,71 1 20 24 291 3 CPB | Kopenesa ry6ra 26 i:’[
89 7 145 | ——| et - 10C3 62 0,71 1 22 28 329 4e CPB | BcuxaHHs 21 &
88 | 20 | 13 A ] Y e 10C3 51 0,78 1A 21 26 340 3 CPB | «openesa ryora 26
88 | 22 | 45 | —#$ SweMCTo ke | 10C3 54 0,82 1 22 26 380 3 CPB | BeuxanHs 21
Pa3om 37,7 | F24 ‘ AN '
Bcboro 1570 ji-3
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